



$$\chi(z+a) = \chi(z) e^{-\frac{i\pi}{a}(z+a)}$$

$$\chi(z+b) = \chi(z) e^{-\frac{i\pi}{a}(z+b)}$$

~~$f(z+a)$~~

$$\mu f(z-c) = e^{\lambda(z+a) + \lambda a}$$

$$\left. \begin{aligned} \mu &= e^{\lambda a} \\ \mu' &= e^{\lambda b} \cdot e^{\frac{i\pi}{a} b} \end{aligned} \right\}$$

$$\mu' f(z-c) = e^{\lambda z + \lambda b} \cdot e^{\frac{i\pi}{a}(b-c)}$$

~~$z+a$~~

$$z = z - a$$

$$\left. \begin{aligned} b \log \mu &= \lambda a \\ a \log \mu' &= \lambda b + \frac{i\pi}{a}(\sigma - \tau) \end{aligned} \right\}$$

$$a \log \mu' - b \log \mu = \frac{i\pi}{a}(\sigma - \tau)$$

$$\mu'(z) = e^{\lambda z} \cdot e^{\lambda b} \cdot e^{+\frac{2i\pi}{a}(z-b)}$$

$$2z + i$$

$$x = z - \alpha.$$

$$2z - 2\alpha + b$$

$$\left. \begin{array}{l} b \\ a \end{array} \right\} \begin{array}{l} \log \mu = \lambda a \\ \log \mu' = \lambda b + \frac{2i\pi}{a}(\sigma - z) \end{array}$$

$$a \log \mu' - b \log \mu = 2i\pi(\sigma - z)$$

$$ma + nb$$

$$\sigma = ma + nb$$

$$f(x) = \frac{\varphi(x)}{4(x)}$$

2, 2

$$\varphi(x) = \sum A_n Q^{\frac{n^2}{a}} e^{i \frac{2\pi n x}{a}}$$

$$Q = e^{i \pi \frac{b}{a}}$$

$$a = 4K$$

$$b = 2iK'$$

$$Q = e^{i \pi \frac{K'}{2K}} = Q^{\frac{1}{2}}$$

$$Q = e^{-i \pi \frac{K'}{2K}}$$

$$\varphi(x) = A_0 \sum Q^{\frac{n^2}{4}} e^{i \pi \frac{nx}{a}} + A_1 \sum Q^{\frac{n^2}{4}} e^{i \pi \frac{nx}{a}}$$

$$\varphi_1(x) = \sum_{n=-\infty}^{+\infty} Q^{n^2} e^{i \pi \frac{nx}{K}}$$